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Name: __________________________________


1
In the diagram below of [image: image1.png]MNACT



, [image: image2.png]BE|| A7



.

[image: image3.png]



If [image: image4.png]


, [image: image5.png]


, and [image: image6.png]


, what is the length of [image: image7.png]BT



?

	1)
	5

	2)
	14

	3)
	20

	4)
	26



2
In the diagram below of [image: image8.png]MABC



, [image: image9.png]V|| BC



, [image: image10.png]


, [image: image11.png]


, and [image: image12.png]


.

[image: image13.png]



What is the length of [image: image14.png]Ve



?

	1)
	[image: image15.png]




	2)
	[image: image16.png]




	3)
	14

	4)
	24



3
In the diagram of [image: image17.png]MABC



 shown below, [image: image18.png]DE || BC



.

[image: image19.png]



If [image: image20.png]


, [image: image21.png]


, and [image: image22.png]


, what is the length of [image: image23.png]B



?

	1)
	6

	2)
	2

	3)
	3

	4)
	15



4
Triangle PQT with [image: image24.png]


 is shown below.

[image: image25.png]



If [image: image26.png]


, [image: image27.png]RO=



, and [image: image28.png]


, what is the length of [image: image29.png]PT



?

	1)
	14

	2)
	17

	3)
	35

	4)
	38



5
In the diagram of [image: image30.png]MABC



 below, [image: image31.png]DE || BC



, [image: image32.png]


, [image: image33.png]


, and [image: image34.png]


.

[image: image35.png]



What is the length of [image: image36.png]BC



?

	1)
	12

	2)
	10

	3)
	8

	4)
	4



6
In the diagram of [image: image37.png]MABC



 below, [image: image38.png]DE || AB



.

[image: image39.png]



If [image: image40.png]


, [image: image41.png]


, [image: image42.png]


, and [image: image43.png]


, what is the length of [image: image44.png]CE



?

	1)
	10

	2)
	8

	3)
	6

	4)
	4



7
In the diagram below of [image: image45.png]MABC



, [image: image46.png]DA



, [image: image47.png]CEB



,  [image: image48.png]DE || AB



, [image: image49.png]


, [image: image50.png]


, [image: image51.png]


, and [image: image52.png]


.

[image: image53.png]10




What is the value of x?

	1)
	0.5

	2)
	2

	3)
	5.5

	4)
	6



8
In the accompanying diagram of equilateral triangle ABC, [image: image54.png]


 and [image: image55.png]DE || AB



.

[image: image56.png]



If AB is three times as long as DE, what is the perimeter of quadrilateral ABED?

	1)
	20

	2)
	30

	3)
	35

	4)
	40



9
In [image: image57.png]MABC



, point D is on [image: image58.png]AB



, and point E is on [image: image59.png]BC



 such that [image: image60.png]DE || AC



.  If [image: image61.png]


, [image: image62.png]


, and [image: image63.png]


, what is the length of [image: image64.png]AC



?

	1)
	8

	2)
	9

	3)
	10.5

	4)
	13.5



10
In the diagram below of [image: image65.png]MABC



, with [image: image66.png]CDEA



 and [image: image67.png]BGFA



, [image: image68.png]EF || DG || CB



.

[image: image69.png]



Which statement is false?

	1)
	[image: image70.png]




	2)
	[image: image71.png]




	3)
	[image: image72.png]




	4)
	[image: image73.png]






11
In the diagram below of [image: image74.png]MACD



, E is a point on [image: image75.png]AD



 and B is a point on [image: image76.png]AC



, such that [image: image77.png]EB || DC



.  If [image: image78.png]


, [image: image79.png]


, and [image: image80.png]15



, find the length of [image: image81.png]EB



.

[image: image82.png]




12
In the diagram below of [image: image83.png]MNADE



, B is a point on [image: image84.png]AR



 and C is a point on [image: image85.png]AD



 such that [image: image86.png]BC || ED



, [image: image87.png]


, [image: image88.png]


, [image: image89.png]


, and [image: image90.png]2x+2



.  Find the length of [image: image91.png]AC



.

[image: image92.png]




13
In the diagram below of [image: image93.png]MABC



, D is a point on [image: image94.png]AB



, E is a point on [image: image95.png]BC



, [image: image96.png]AC|| DE



, [image: image97.png]


 inches, [image: image98.png]18



 inches, and [image: image99.png]12



 inches.  Find, to the nearest tenth of an inch, the length of [image: image100.png]EB



.



[image: image101.png]




1
ANS:
2

[image: image102.png]



REF:
081027ge

2
ANS:
3

[image: image103.png]o
"
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REF:
081103ge

3
ANS:
3

[image: image104.png]


.  [image: image105.png]



REF:
061216ge

4
ANS:
3

[image: image106.png]Lz
8 x

12x = 168




  [image: image107.png]21+ 14





REF:
061426ge

5
ANS:
2

[image: image108.png]el
"
Sl
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REF:
081423ge

6
ANS:
3

[image: image109.png]4 _x+2
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REF:
011521ge

7
ANS:
4

[image: image110.png]x_x+x+d
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REF:
011626ge

8
ANS:
4

Because [image: image111.png]DE|aB



, ΔCDE is an equilateral triangle as well.  If  DE = 5, then CD = 5 and CE = 5, and AD = 10 and BE  = 10.  Since AB is three times as long as DE,  AB = 15.  [image: image112.png]5+10+10+15=40




REF:
089915a

9
ANS:
4

[image: image113.png]AABC ~ ADBE



.  [image: image114.png]4B _ AC

-
"
s
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REF:
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11
ANS:


5.  [image: image115.png]



REF:
011033ge

12
ANS:


32.  [image: image116.png]16
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.  [image: image117.png]
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13
ANS:


16.7.  [image: image118.png]x_L
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